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1.  Solve 4cosx +4sinx=5 ~n<x<x
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2. Solve cosx=sin2x, 0<x<360°
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3. 3cos2x=1-sinx, 0°<x<360°
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4. tan2x=3tanx, 0°<x<360°
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5. By expressing cos3x as cos(2x + x), show that

cos3x =4cos®x - 3cosx . Hence solve cos3x + 2cosx =’0,
where 0° < x < 180°,
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We shall use S =sin #, Then to solve: 0°< x < 180°
C=cosx, S?+C*=1, cos3x+2cosx =0
cos2x = 2C% - 1= 1-282, 4C3-3C+2C=0
sin 2x = 2CS, etc. 2
- c(4c? - 1)=0
1. 4cosx+4sin®z=5, cosx=0 = x=00°
-T<x<T cosx =+
4C+4(1-C*)=5 T2
— ] 200
4C% -4C+1=0 x =601 .
2 x=60°90° 120
= (2C-1)"=0
cosx =+
= +£
2. sin2x-cosx=0,
0°<x<360°

28C~-C=00orC(2S-1)=0
cosx = 0 gives x = 90°, 270°.
sinx =4 gives x=30° 150°.
x = 30°,90°, 150°,270°

3. 38cos2x+sinx-1=0,
0°< x <360

3(1-28%)+S-1=0
6S% -§-2=(35-2)25+1)
=0
sinx =4 gives
x=4181° 138.19°
sinx=-%
gives x = 210°, 330°
4. tan2x-3tanx=0,
0°<x<360°
2 _3t=0
1-¢
3t —t=£[3" - 1)
=0
tanx =0
x =0°, 180°, 360°

tanx = i-j:;-
x =30°,210°,
150°, 330°

5. cos3x=cos(2x +x)
=cos2xcosx
—gin2xsinx

=(2c"’-1)c-2sc-s
=2C° -C-2C(1-C?)
=4C%-3C

=4cos3 x—-3cosx




